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- _ him a map
Unit 1
(A) ought to give (B) had to give
1 I told him how to get here but perhaps I (C) should have given (D) must have given
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the 1500’ s the first
European explored the coast of California
(A) It was not until / then

(B) It 1s untl / that

(C) It was not until / when

(D) It was not until / that

Rotation refers to the turming of the
earth, to the movement
around the sun

(A) revolution refers

(B) while revolution referring

(C) while revolution

(D) revolution referring

Every means been tried since

then
(A) has (B) have
(C) are (D) 15

It 1s necessary that an efficient worker
his work on time

(A) accomplishes

(C) has accomplished

I would appreciate

(B) can accomplish
(D) accomplish
it a secret.

(A) you to keep

(B) your keeping

(C) that you would keep

(D) that you are keeping

He 15 sometimes bad — tempered but he 1s

a good fellow .

(A) in heart (B) with heart

(C) by heart (D) at heart

The physicist has made a discovery,
of great importance to the

progress of science and technology.

(A) I think which 1s

(B) which I think it 1s

(C) which I think is

(D) that I think 1s

9 The local health orgamzation 1s reported

twenty — five years ago when

10

Dr Audon became its first president

(A) to be set up

(B) to have been set up

(C) being set up

(D) having been set up
Melted 1ron 1s poured into the mixer
much ____ tea 1s poured nto a cup

from a teapot

(A) 1n the same way as

(B) 1n the same way which

(C) 1n the same way like

(D) in the same way

Unit 2

By the time you arrive in London, we
in Europe for two weeks.

(A) shall stay

(B) have stayed

(C) will have stayed

(D) have been staying

I haven’t any notepaper, but this enve

lope will do the time being.

(A) at (B) by

(C) n (D) for

They be crazy to let him drive
their car; he hasn’t got a drniver’ s h
cence

(A) could (B) must

(C) would (D) should

My sister said that she would work out
the problem herself ask my
brother for help.

(A) yet not (B) but not

(C) rather than (D) and not to

. We have been told the final outcome of

the negotiations, but we shall never know
what on behind the scenes

(A) goes



10

(B) will go
(C) will have been going
(D) went

it ratned last might, the ground
would be wet now
(A) Should (B) If
(C) Wauld (D) Had
Mrs Rumbold has a habit of asking ques-
tions
(A) and then not hstening to the answers
(B) but then not listen for the answers
(C) and then not lListen to the answers
(D) and then doesn’t listen to the an-
swers
Hydrogen 1s the fundamental element of
the universe it provides the
building blocks from which the other ele-
ments are produced
(A) so that (B) but that
(C) provided that (D) m that
A man who has received a kindness

be too grateful for it
(A) shan’t
(C) won’t

(B) cannot

(D) needn’t
getting up early, he had no
difficulty adjusting to the new schedule
(A) Accustomed to
(B) Having to accustomed to
(C) Have accustomed to

(D) To have accustomed to

Upit 3

I’d get 1t for you [ could re-
member who last borrowed 1t

(A) except that

(B) if only

(C) on condition that

(D) considering whether

If that idea was wrong, the project 1s
bound to fail, good all the oth-
er 1deas might be
(A) whatever
{C) however

Iron steel, which 1s known to

(B) though

(D) whatsoever

us all
(A) 1s used to making
(B) 1s being used to make
(C) 1s getting used to making
(D) 1s used to make
your nstructions, 1 would nev-
er have known how to go about the work
(A) But for (B} If not for
(C) Unless (D) Except
They lost their way in the forest, and

made matters worse was that

night began to fall
(A) that
(C) it

{B) what
(D) which
police brutality 1s concerned,

there 1s divided opinion on whether 1t was

forced
(A) Where (B) 1f
{C) As far as (D) How

It was said that the power of fortune was
acknowledged by

(A) unhappiness

(B) unhappy person

(C) the unhappness

(D) the unhappy

The streets are all wet It dur
ing the mght

(A) must be raining

(B) must have raned

(C) must have been ramned

(D) must have

[ have never been to Lhasa, but that’s

the city
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1

2

3

(A) I'd most like to visit

(B) where I most like to visit
(C) 1 like to visit 1t most

(D) which I like to vistt it most

[ walked 7 muiles today 1 never guessed

that { could walk far
(A) this (BR) such
(C) that (D) as

¥ Unit 4

I didn’ t go to the party yesterday, but I

do wish | there
(A) was (B) were
(C) had been (D) went

Mr Johnson and his wife are so excited

today, for they have just bought

(A) many furnitures

(B) <o many furniture

(C, many piece of furmture

(D) a lot of furmture

When I came 1n that evenung, the door of

the Bradley’s sitting ~ room was open and
, stamping of feet, and televi-

s10n music.

(A) through 1t came laughter

(B) laughter came through 1t

(C) 1t through came laughter

(D) came laughter through 1t

The two girls whispered they

should disturb the others

(A) so that

(B) 1n case

(C) 1n order that

(D) providing that

They always give the vacant seats to
comes first

(A) who (B) whom

4

(C) whoever

Successful parenting begins by communi-

(D) whomever

cating to children that they are loved for

reason just because
they exist
(A) any other than
(B) every other .  than
(C) some other. than
(D) no other . than

He’s

vegetables.

of an expert on growing

(B) somebody

(D) someone

(A) something
(B) anyone
musical in-

All hus neighbors are

It 15 high nime he
struments at mght
fast asleep

(A) stops playing
(B) stopped playing
(C) stopped to play
(D) stops to play
itself dafhs

cult but just needs are and patience

The exercise i1s not

(A) by (B) of
(C) 1n (D) for
10. He was 1in hospital He the

meeting here

(A) must not have attended
(B) could not be able to attend
(C) mustn’t attend

(D) can’t have attended

Unit §

He would gain weight but he e-
nough

(B) didn’t eat

(D) wouldn't eat

(A) doesn’t eat
(C) hadn’t eat
Little schooling the two young

men had, the Wright brothers were the



first to discover the secret of air travel
(A) although (B) no matter how
(C) as (D) however

I’ d just as soon the work ahead
of schedule

(A) that you will finish

(B) you finished

(C) you had finished

(D) you not fimsh

Look,

(A) there he s standing

(B) there 1s he standing

(C) he there 1s standing

(D) he 1s standing there

1 hike black coffee so much because the
stronger 1t 1s,

(A) 1 like 1t better
(B) the more I like
(C) I like 1t more

(D) the betrer I like 1t
There 1s no use

(A) 1o cry

(B) crying

over spilt milk

(C) of you will cry
(D) 1f you are crying

It 1s better to die on one’ s feet than

(A) live on one’s knees

(B) living on one’s ees

(C) on one’s knees

(D) to live on one’s knees

It was such a successful play that 1t was
liked by people all over the world for hun

dreds of years

{A) on end (B) n end
(C) n the end (D) at an end
The outline 1s to the writer the

blueprint 1s to the builder
(A) how (B) that

(C) what (D) which

10 Each working day commuter trains carry

of suburban residents to and
from work 1n large cities such as Chicago
and Boston
(A) a hundred and thousands
(B) hundreds, thousands
(C) a hundred thousand
(D) hundreds of thousands

Unit 6

There was no sound reason _________ the
meeting yvesterday
(A) for you not attending
(B) for you to not attend
(C) for you not to attend
(D) for you not attend

its weight 1s the Earth’s gravi
tational atiraction for the particular mass
(A) What gives matter
(B) When 1t gives matter
(C) Matter has given
(D) How 1t 1s given matter
. the latest fashions of clothes
(A} You will find nowhere in the city
(B) You will nowhere i the ety find
(C) Nowhere 1n the aity you will find
(D) Nowhere in the city will you find
After so many years abroad, Henry came
back only his hometown severe
ly damaged in an earthquake
(A) to have found
(B} to find
(C) finding
(D) to be finding
All 1s a devotion to the educa-

tional cause

(A) what 1s needed
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5

8

9

10

1

(B) 1s needed

(C) that 1s needed

(D) which 1s needed
His bicycle 1s

working very well

repairing
(A) Neither wheel needs
{B) Either wheel needs
(C) Nerther wheels need
(D) Neither of 1ts wheels need
The factory has turned out
(A) twice more cars this year than last
year
(B) cars twice more this year than last
year
(C) twice as many cars this year as last
year
(D) cars this year twice as many as last
vear
Weather

tomorrow

, we’ll go for a picnic
(A) permits (B) should permit
(C) will permit (D) permitting
Arniving at the tramn station,
waiting there

(A) may people were

(B) many people

(C) he found many people

(D) may people were found

she first heard of the man re-

ferred to as a specialist in ecology

(A) It was from Sally that

(B) It was Sally whom

(C) That was from Sally

(D) It was Sally that

¥ Unit 7

All the machines by the end of

the following week

6

(A) would be repaired

(B) will have been repaired

(C) were repaired

(D) were being repaired

The board deemed 1t urgent that these
files___ nght away

(A) had to be printed

(B) should have been printed

(C) must be printed

(D) should be printed

I didn’ t go to his party last mght be-
cause, , I changed my mind
(A) on a second thought

(B) by second thoughts

(C) on second thoughts

(D) on the second thought

He said he would sooner die the
cause of his country

(A) than betray

(B) rather than betray

(C) but betray

(D) instead of betraying

He speaks French, but not his
sister does

(A) as good as
(B) as well with
(C) so well as
(D) so good as
The teacher was to tell the
truth Don’t you think so?

(A) enough man

(B) enough a man

(C) a man enough

(D) man enough

I lay there in the dark, my fists

upon nothing

(A) clenched hard

(B) were clenched hard

(C) clenching hard



(D) being clenched hard
Would you
suggestions on how to study English?
(A) be so kind

(B) be kind as

(C) be so kind as

(D) be enough kind

Much of
porpoises has come from observations
made at Sea World in Flonda

(A) report that 1s

to give me a few

<about the behavior of

(B) what 1s reported
{C) it reports that
(D) what 1s 1t reported

10 To succeed 1n a scientsfic research pro-

ject,

{A) one needs to be persistent

(B) persistence 1s needed

(C) one needs be a persistent person

(D) persistence 1s what one needs

Unit 8

1. The director of such a big orgamzation

should know
(A) how to manage money, selling his
products, and be able to sausfy
stockholders
(B) money management, selling, and
able to satisfy the stockholders
(C) how to manage money, sell his prod-
ucts, and satisfy the stockholders
(D) money management, selling, the
1dea of bemng able to sausfy the
stockholders
. It was not much the clothes as
the man himself who impressed us imme-
chately
(A) so (B) that

. The goals

(C) as (D) what

. I’ ve already told you that I’m going to

buy 1t,

(A) how much does 1t cost

(B) no matter how 1t costs

(C) however does 1t cost much

(D) however much 1t costs

If you want to correct someone, you’ d
better do 1t with as much good humor and

self — restraint as if you were the one

(A) to correct
(B) being corrected
(C) having corrected
(D) correcting
might be expected, my applica-
tion was turned down again
(A) It (B) What
(C) As (D) That
There was a kind of teapot fashioned like
a China dragon, out of open
mouth the tea was supposed to come
(A) which (B) whose
(C) that (D) 1ts

. I will do the shopping if you see

the children
(A) off (B) with
(C) through (D) to

. In the past, men generally preferred that

their wives m the home, at-
tending to the housework and looking af-
ter the children.

(A) work (B) worked

(C) would work (D) were working
she had fought all her
life no longer seemed too difficult to be at-
tained now

(A) after which  (B) for which

(C) with which (D) against which

7



10 He ran as fast as he could lest he

the last train
{A) miss

(C) would muss (D) would not muss

(B) mught miss

Unit 9

television has been a good 1n-
vention or not seems to be entirely a mat
ter of opinion
(A) If (B) Whether
(C) Weather (D) Either

This vehicle moves on along the ground

(A) of an average speed at 40 miles per
hour

(B) at 40 mules per hour of an average
speed

(C) of 40 mules per hour at an average
speed

(D) at an average speed of 40 mules per
hour

more diffieulties than you are

prepared for

(A) It 1s likely that

(B) It will be likely that
(C) There 1s likely to be
(D) There are likely to be
The purpose of law 1s to abolish
or restrain, to preserve or en

large freedom

(A) not nesther
(B) neither nor
(C) not but

(D) not . . ether

5 A turtle differs from all other reptiles

that 1t has 1ts body covered 1n a
protective shell of its own
(A) n (B) on
8

10

(C) of {D) from

the lLight rain, the baseball
game was not cancelled

(A) Because of (B) Despite

(C) Due to (D) In regard to
The whole town went there to watch the
1ron tower
(A) to erect (B) be erected
(C) bemg erected (D) erecting

She 1s a musictan than her

brother
{A) much of (B) much as
(C) more as (D) more of

Astronomer Maria Mitchell was first
woman to the American A
cademy of Arts and Sciences

(A) elected

(B) was elected

(C) which she was elected

(D) for her to be elected

The principal responsibility of managing

the dormitory rests with the students

(A) wself

(C) themselves

(B) of itself
(D) by themselves

* Unit 10

The purpose of the research had a more

difficult

meaning for them than

(A) ours

(B) for ours 1t had

(C) 1t did for us

(D) with us

The business 1s risky But we
would be rich

(A) should we succeed

(B) would we succeed



(C) might we succeed
(D) could we succeed
Anmie’s work was,
(A) as well as, if not better than, ours
(B) as good as, if not better than, ours
(C) as better as, if not best than, ours
(D) so good as, if not better than ours
Professor Smuth 1s wnting a book
he calls the trip of hus life
(A) what (B) in what
(C) 1in which (D) on what
Since she 1s angry, we
(A) mught as well leave her alone
(B) should leave her alone
(C) had better to leave her alone
(D) must leave her alone
The twin brothers are so alike that no one
can tell
(A) who s whom (B) whom 1s who
(C) who 1s who (D) which 1s which
The man over there 1s our prin-
cipal himself
(A) no other but
(B) none other than
(C) no other than
(D) no other than
By no means lock down upon
those menial labor workers
(A) we should (B) should not we
(C) we should not (D) should we
The activities of the international market-
ing researchers are frequently much
broader than
(A) those of the domestic marketer
(B) that which has the domestic marketer
(C) the domestic marketer has

(D) does the domestic marketer

10 They talked about business a

cup of tea.

(A) with (B) for
(C) at (D) over

Unit 11

. It was very kind of you to do the house-

work, but you it at all
(A) didn’t have to do

(B) needn’t do

(C) mightn’t have done

(D) mustn't have done

There 15 no what she 1s on her
mind

(A) know (B) known

(C) to know (D) knowing

was a well — known fact
{A) That their team being powerful
(B) That their team was powerful
(C) As their team was powerful
(D) Their team was being powerful

That sort of problem doesn’ t me

(A) shghtly (B) to the shghtest
(C) in the shightest (D) shghtest
First — born children 1n a family seem to

have a stronger desire to succeed

(A) as later ~ born children do

(B) than later ~ born children are

(C) 1of later — born children do

(D) than do later — born children

He 1s now hving m New York, but he
mussed his family enjoy the ex-
citing life there

(A) so much as to  (B) very much to
(C) too much to (D) so much to
America will never agamn have as a nation
the spint of adventure as 1t be-

fore the west was settled.



10 That professor 1s

1. He meant

(A) &d (B) would

(C) could (D) was

To plot Shakespeare’ s life 1s to become

involved 1n a kind of detective story
there are plenty of clues but

very little else

(A) which (B) where

(C) from which (D) when

9 There are three kinds of book owners

The first has all the stand sets and best

sellers, and

(A) unread, untouching

(B) unreadig, untouching

(C) unreading, untouched

(D) unread, untouched

selfish per-
son that he hasn’t least con-
cern for others.

(A) sucha, a (B) sucha, /
(C) such a, the (D} a, the

Unit 12

the early bus, and
that meant up before five o’
clock

(A) to catch, to get

(B) catching, getting

(C) to catch, getting

(D) catching, to get

The book 1s well written and well print-

ed. There are few, if , mis-
takes 1n it

(A) any (B) some

(C) other (D) another

If a book 1s in Englsh, may
mean slow progress for you.

(A) which (B) that

(C) as (D) and 1t

10

10.

. He tried his best and did what he could

us.
(A) help (B) helping
(C) helped (D) to help
as much as one — fourth of all
timber harvested 1s not used.
(A) They estimate that
(B) They are estimated
(C) It 1s estimated that
(D) The estimate
In the last ten years, there have been
many changes in famuly life. Are these
changes ?
{A) for better or for worse
(B) for the better or for the worse
(C) for the best or for the worst
(D) for the good or for the bad
Peter was the football with him
but he had forgotten.
(A) to bring
(B) to be briging
(C) to have been brought
(D) to have brought

. Wood furniture does not depreciate in val

ue properly handled and pro-
tected

(A) has (B) and

(C) of (D) that

. As the sky grew darker, 1t became obvi-

ous to us that the boys to finish

the game quickly if they wanted to avoid

the storm.
(A) have (B) would have
{C) having {D) ought to have

I am sure Mary has been here and

(A) has done what was required of her
(B) did what required her
(C) has done what required her



5.

(D) did what has been required of her

“ Unit 13

It was this concept capture the
mmagination of so many people

(A) which was (B) which was to

(C) that was (D) that was to

If you were watching and hsteming to the
play carefully, you something
rather suspicious about one of the charac

ters

(A) may have noticed
(C) may notice

(B) must nouce
(D) can have noticed
By the close of the 1960’ s, it became
more common to deal gently with the ex-
isting urban fabrical to insert new buld-
ngs complement the physical
and social environment
(A) with such a way to
(B) 1n a way as to
(C) mn such a way as to
(D) 1n such way to

the Washington Monument and
the capitol, Washington. D C would be
a completely horizontal aty.
(B) Were 1t not for
(D) Weren’t 1t for
The facihities of the older

(A) It were not for
(C) For 1t were not
hospital

(A) 1s as good or better than the new
hosprtal

(B) are as good or better than the new
hospital

(C) 1s as good as or better than that of
the new hospital

(D) are as good as or better than those
of the new hospital

1 a mild chmate, outdoor sorts

10

flourish 1in Hawan

(A) It could expect

(B) As would be expected

(C) Such should expect

(D) That might be expected

When one leaves his car , he as

sumes that the mechanmic will repair the

car well

(A) to be repaired  (B) repaired

(C) repainng (D) being repaired

In the distance could the sleepy

hittle willage with 1ts closely clustered

adobe houses and red, clay — tile roofs

(A) see (B) be seeing

(C) have seen (D) be seen

Molds cannot produce theirr own food
their nourishment from living

o dead organic matter or on other living

matter.

(A) to obtan (B) obtaining

(C) but obtain (D) obtamn

The decline of the mechanical player pi-

ano 1s attributed to the spread

plano music, but of all forms of music

played by phonograph, radio, and tele-

vision.

(A) not
(C) not only 10

(B) not only of
(D) not to

Unit 14

It 1s strange that she such a
man
(A) has married

(C) would marry

(B) marrned
(D) should marry

. Singer as she 1s, Mary has always pre-

ferred her own clothes
them in the shops.
(A) to make rather than buy

11
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(B) to make
{C) making
(D) making

It was unusual

to buy
instead of buying
mstead of 1o buy
_so few people 1n
the street
(A) for there are
(C) for there being

(B) for there to be
(D) for 1t to be

It’s decided that we everything
ready by the end of the week
(A) got (B) will

(D) should get
wart till 1t

{C) must get
There 1s no choice

stops rainng

(A) except to (B) but
(C) but to (D) except
He her room

(A denied entering
(B) was denied to enter
(C) was denied to have entered
(D) demed having entered
The novel 1s the best of
(A) their kind ever written
(B) 1ts kind ever written
(C) 1ts kind written
(D) 1ts kinds ever written
____ the scene of the crime, he
broke down and confessed everything
(A) As soon as (B) On taken o
(C) On being taken to (D) On taking 1o
George 15 as Jack
(A) as an efficient worker as
(B) so efficient worker as
(C) as efficient worker as
(D) as efficient a worker as
They turned off the radio at mudnight
and went to bed, weak laugh
ter
(A) from
(C) with
12

{B) because
(D) for

Unit 15

Sam worked the night
(B) deep into
(D) deeply at

turned up at

(A) deeply into
(C) deep in to
Fewer people than
the conference
(A) we had expected (B) we expected
(C) we had expected 1t(D) we expected 1t
The present cnisis 1s political

an economic one

(A) as more as a

(B) much more than

(C) much more a . . than

(D) asmuch . as ..

He talks as if he the news yes
terday

(A) knew (B) had known
(C) know {D) has known
I’m ready promise
(A) so . to (B)as . to

(C) as asto (D) too . to..

, water changes into steam
(A) When heating (B) While heating
(C) Heated (D) Heating
A young man should be his
guard against bad

{A) on company (B) on .. partner
(Om . parmer (D)m. company
She was all to know about the
matter

(A) patient (B) impatience

(C) impatient (D) patience

The chairman declare the meeting

(A) closed
({C) be closed

(B) being closed
(D) to be closed

10 The number of people invited to the par-



